Experiment p-value

Examplel.E0 3x 1072
Examplel.E1  1—-2x 1078
Examplel. E2 1—2x 1078
Examplels.EO 3x 1072
Examplels. E1 1 -4 x 1077
Examplels B2 1—5x 1078
Example2.E0Q 2x 1076
Example2.E1 2 x 1076
Example2.E2 5x 1076
Example2s.E0 7 x107°
Example2s.E1 8 x 1077
Example2s.E2 2x 1074

Example3.EO 0.01
Example3.E1 7x1073
Example3.E2 0.02
Example3s.E0 0.35
Example3s.E1 0.21
Example3s.E2 0.35

Table 1: p-value for IRMv1A vs. IRMvl on the LinearUnitTests experiment.
p-value is computed using Welch’s t-test [1]. The effective degrees of freedom
are computed using the Welch—Satterthwaite equation.
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